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10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry two marks. All questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(@ii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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POLITICAL SCIENCE
Paper II
ASAIMHA
gyateht 11
Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This paper contains Fifty (50) multiple choice questions. Each question
carries Two (2) marks. Attempt All questions.

AT ¢ A1 YA THY U= (50) SgYAtd U9 STed. e UIAEl | (2) T ST

e yyq diean.

1. When was the Administrative | 1. ST TehE 9T fagahd] 373
Reformts fotrillmiszioné' firstftitr;lle FOTRIE JorTd: FIOE Teh TOTE
suggeste e adoption o e

g‘ﬁ:ﬁ-ﬁﬁ 7
Ombudsman type of institution in well
India ?

(A) 1966
(A) 1966

(B) 1961
(B) 1961

(C) 1956
(C) 1956

D) 1977
(D) 1977 @)

2. Select from the following the 2. :”5“5'1” AT T ST AR
incorrect line agency in the MIRRISCEIERECCIS
Government of India.

(A) 3™
(A) Health
(B) feraron
(B) Education
(C) Transport ©)
(D) Cabinet Secretariate (D) Hfrees Ffed

3 [P.T.O.



Match List I with List IT and select
the correct answer from the codes

given below :
List I
(@) UK
(b) USA
(¢) China
(d) India
List II
(1) Fundamental Duties
(2) Evolved Constitution
(3) Fundamental Rights
(4) Rigid Constitution
Codes :

@ & @© @
@a 3 1 @ @
B @ B3 @ @
© 2 @ O 3

D @ @ @ @
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et el 9T e et 19 IKl

II Aefid weshi=al Siedl Jeeal 3T
fCeiea Fahdieagd ard qaE faer .

I |

(@) Fh
(b) FTHT
(c) =M
(d) ¥Rd
et 11
(1) 9e39d sheied

(2) SThIA TsI&A
(3) HBYd TR
(4) qIST TSFESAT
Hehdich :

(@ ) @ (@
A e 1 @ @
B @ 3 @ @
< @ @ @O 3

D @ @2 @ @




4.  Which of the following statements

is incorrect ?

(A)

(B)

(®)

D)

David Easton put forth his
approach to the comparative
politics in his book ‘Political

System’

According to David Easton
demands are converted into

support

According to David Easton a
political system faces demand

stress and support stress

David Easton defined political
system in terms of ‘Authoritative

allocation of values’

4.
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(A)

(B)

©)

(D)

BT T AT qAATHSE

N
ST TUT=AT SAHTHTET §8Teh A

‘gifcreiehel faeed’ a1 Jieha HiSal
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Which among the following pair is

not correctly matches ?
(A) UK. — Conservative &
Labour Party

(B) USA — Liberal &
Democratic Party

(C) France — Socialist &
Communist Party

(D) Switzerland — Radical and
Social Democratic
Party

In which state of Canada separatist

movement is prevalent ?
(A) Ontario
(B) Quebec
(C) Alberta

(D) Nova Scotia

MAY - 15216/II—C

EcATeTUeh! iUl Sel 3R 38 2

(A) JTILE — HeRegel® d el

IEXEL] REN|

(B) 3 — Tooa o SHidh®

(C) wE — HRffae 9 s>

q&l

(D) facrie — fewra 9 IR

SHlhalh T

HASTAT IV TN FHeRdTaTe] Hedes

e R ?
(A) =R
(B) s

(C) e

(D) e RIS




Match List I with List IT and select
the correct answer from the codes

given below :
List I
(@) Narmada Bachao Andolan
(b) Indian Chamber of Commerce
(¢) Rasta Roko
(d) Bureaucracy
List II
(1) Institutional group
(2) Associational group
(3) Anomic group
(4) Promotional group
Codes :
(@ b)) () (@@
Aa 3 O @ @
B @ B @ @
© 2 @ @®O O3

D @ @ @ @
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Trel feeiedn = O &Ed AR 1

ST AT 11 =2 A e Sfesd vy

feeTea Heahareayd arg g feer ¢
RICUN'

(@) THI el SR

(b) Sfea =R A HAd

(c) &l Ushl
(d) TR

et 11
(1) IEIHE e
(2) FEAHE e
(3) HAfd=R e
(4) Hag® T
Hehdich :

(@ b)) @ (@
Aa 3 @O @ @
B) @ @) @) @
© 2 @ @O 3

D @ @2 @ @
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10.

Which one of the following
statements is incorrect ?

(A) In USA every federating unit
gets equal representation in the
Senate

(B) In Switzerland judicial review

is totally absent
(®))

In Canada in the province of
Quebec the

separatism prevails

problem of

(D) In India the residuary powers
are with the centre

How many stages of economic growth
does Walt W. Rostow outline in his
book “Stages of Economic Growth :
A Non-Communist Manifesto”
[1960] ?

(A) 5
B) 4
(C) 6
D) 7

Weak states generally share all the
following characteristics, except :

(A) Poverty

(B) A widespread
legitimacy

sense of

(C) Deep ethnic divides

(D) Lack of innovation

8.

10.
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WAtdeh! 3™ e sieen

(A) 3R FaeHs Yoieh T2 TsATel
TH et fHesd

(B) facciensd =mmeria gAfdars

ASTeTa STfEdera el

- ~ d o
(C) TST=AT sk Hdld HERATAGTH

T 3T

(D) YRAW IEIfRR ke 3R

dice Ty, UL I ue H w S
A ghMANTR W 2 F TA-FGTE
AAREI'’ (1960) A1 TR fo¥1G shelad
anfeler faemam fohdt <o wifftaer eTRa 2

(A) 5

(B) 4
(C) 6
D) 7

HAHIEROTYUl ShHchad TsI=l i
0, 3
IO ST STEAI. W AN STIEE

Mes@

(A) TR
(B) =AMUe STYAMAd! A&
(C) T iy 98

(D) Ffea=rquid=n e




11.

12.

Who wrote the book “Aspects of

Political Development” ?

(A) Gabriel Almond

(B) Samuel Huntington

(C) David Apter

(D) Lucian Pye

Which one of the following
constitutional amendments changed
the method of the election of the US
Senate from indirect to direct to

combat electoral corruption in 1913 ?

(A) 17th Constitutional

Amendment

(B) 13th Constitutional

Amendment

(C) 16th Constitutional

Amendment

(D) 18th Constitutional

Amendment

11.

12.
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‘TgUeey ATk Uifedierd Saaaie’ ©
g v fafeet 2

(A) TifoeTa 3TeHe
(B) ¥geT@ gfered

(C) Sdfg fx

(D) qEEA 1=

1913 Hell Hetedn IS yee=mer

qra HI0ITEIST AAfiwma fgae=an

STk Tagd HITICAT EEATGEEAA

ST AT ?

(A) 178t FeAgE

(B) 134l HeAgei

(C) 163t TG

(D) 18t HeAgE
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13.

14.

Who said, “The power to hurt is
nothing new in warfare, but modern
technology enhances the importance
of war and threats of war as
techniques of influence of bargaining

and intimidation” ?
(A) Bernard Brodie
(B) Michael Hoffmann
(C) Thomas Schelling
(D) Ashley Tellis

Who categorized ideologies into the
following, namely ideologies of the
Quo,

Imperialism and Ambiguous Ideo

Status Ideologies of

logies ?

(A) Stanley Hoffmann
(B) Hans J. Morganthau
(C) Kenneth Waltz

(D) Karl Marx

13.

14.
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UW@ S Sh{0ITHl BFh SCiE :|'|3°f,
W YR TR EET w9

Uik SrEfavdr 9 RUE IS 7w

e TR ¥ faum w2
(A) =€ siEt

(B) fHera erme

(C) or et

(D) 3T e

foamymet=® afisro ¢ feerdiarnt

TRy oTelt, AT faemyoTe 2o

Tfgry faamyonelt 18+ el ?

(A) T BHHEA

(B) 9 . #iTre

(C) &Y dfce

(D) =T A
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15.

16.

17.

Which of the following is not the

correct statement about the

functioning of a political regime ?
(A) The organization of community
(B) The organization of consent
(C) The configuration of interests
(D) The organization of rights

Which three institutions were the
pillars of the Bretton Woods

System ?

(A) IMF, World Bank, GATT
(B) IMF, G-20, G-7

(C) IMF, World Bank, WTO
(D) WTO, GATT, G-7

Which one of the following is called

a “Mini Thermonuclear Bomb” ?
(A) Neutron Bombs

(B) Fission Bombs

(C) Fusion Bombs

(D) Hydrogen Bombs

15.

16.

17.
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qSTee <Al ShrAtared Slelieiueh! ahivrd

faum s o ?

(A) THEHEN HEA

(B) H=Ia e

(C) Teae=em HH=er

(D) TR HereA

S JEH I & T§ WU Fhvel
T TEA= 3o Il A ?

(A) SIS A0, S e,

L3

Lich
(B) STAQSEA AR, SH-20, -7
(C) ST Aoifaeh, Smifaes ek,

STTfdeh AT HeeT

(D) SFifder SAMMR geeAT, e, Si-7

ettt Hivrear direr et

qHgEeR dr e’ e S ?
(A) =gH &=

(B) fosH diet

(C) WS drl

(D) FEAGT

11
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18. Match the pairs and select the

correct answer from the codes given

below :

(a)
)
(c)
d)

(1)
(2)
3)
(4)

List 1
(Treaty)
PTBT
NPT
ABM Treaty
CTBT
List II
(Year)
1972
1996
1963

1968

Codes :

A
(B) (2)
©) 3)

D) @

(@ b)) © @

@ @ 3

1 3 @

4 @O @

3 @ @

MAY - 15216/II—C

18. @t fooiedr Hehd FEEl TR HEA

It 1 efor et I = Ara Sied
Sesdl ¢

(@)
®)
(c)
(d)

(1)
(2)
(3)
(4)

a1
()
PTBT
NPT
ABM Treaty
CTBT
RICU |
(ar)

1972
1996
1963

1968

- -
-
.

A) (D
(B) (2)
©) 3

(D) 4)

@ B @© @

@ @ 3

v G @

4 @O @

@ @ @
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19.

20.

The decision to elevate India’s
interaction with ASEAN from “Full
Dialogue” to “Summit Partners” was
taken at the ASEAN summit held
in :

(A) Phnompenh in 2002

(B) Hanoi in 2005

(C) Kuala Lumpur in 2007

(D) Singapore in 2009

Which one of the following military
operations was not conducted by

India ?

(A) Operation Rhino

(B) Operation Cactus

(C) Operation Thunderbolt

(D) Operation Polo

19.

20.

MAY - 15216/I11—C
IRAT ST ek ¥ ‘Feehed’

“ferer gt eIt S=IavITHl

fofg v Afgam firer ofteed

odel ?
(A) FHUT 2002 HEA

(B) &% 2005 HEY

(C) SETele X 2007 HEA

(D) f&MR 2009 A

WA hIUE! TSRy AR YRdM

whell A& ?

(A) AR /=

(B) 3WHE Hhehed

(C) STIA gsTalee

(D) AR Tt
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21.

22.

Which thinker opposed the claim to

Papal supremacy ?

(A) Giles of Rome

(B) John of Salisbury

(C) Thomas Aquinas

(D) Marsiglio of Padua

Which behaviourist tenet was

completely rejected by the advocates

of post-behaviourism ?

(A) Interdisciplinary approach

(B) Theory-building

(C) Value-neutrality

(D) Empirical research

21.

22.

MAY - 15216/II—C

F1vTegr fa=aad™ fiu=ar 99y

foiy e ?

(A) Sieg AT 9

(B) S #ATw el

(C) IMHE I

(D) wfEfer sife qrgen

STRAAARTAT QLRI SR v

T qUIUl AR 7

(A) STRfoamemsia gftesm

(B) Tagia-fafdd

(C) Hogaeeerd

(D) STIHTHHE HE

14
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23. What is the central theme of | 93 Fifeeia ¢ srefome’ = Hemren vq@ fao=
Kautilya’s ‘Arthashastra’ ? FHoTa ?
(A) Finance (A) Toregasen
(B) Ethics (B) iifaawn
(C) Statescraft (C) T~Fdd
(D) Diplomacy (D) ST
24. Xglla}lg&b?ﬂn%}%ghgﬁnf’wmg PAIrs IS | o4 reft fediean Srewidiet FHT et aiieR
(A) John — Libertarianism el e ?
(B) gilzvel:t — Communitarianism (A) S e — TSR
(C) gﬁzﬁs — Justice as Fairness ®) T A —
Taylor (C) oId TR — RAa®dl =
D 1\;/[‘7:1}; Z:l_complex equality (D) AEhd dies — SAMHY THaT
25. Which of the following statements 25. el feetedn faumder wowdt foem
are correct ? TR 3Ted ?
(@) Savarkar advocated Hindutva (@) HERHTHA! fegemsn qEsR el
(b) Savarkar was a nationalist (b) HEHL TR B
(¢c) Savarkar endorsed (c) HERH SUGHIAEGrE Hied Bid
uilieriamigm (d) ORI HHERIR TSI e
(d) Savarkar supported theocracy =5l
Codes : we :
(A) (a), (b) and (c) (A) (a), (b) A (c)
(B) (a), (b) and (d) B) (a), (b) 3 (d)
(C) (o), (b) and (d) (©) (c), (b) 3 (d)
D) (a), (c) and (d) (D) (@), (c) 3T (d)
15 [P.T.O.



26. Select the correct answer by using

the codes given below :

(1) Antonio — The role of

Gramsci intellectuals in
society
(2) Mao — To rapidly trans-
Zedong form the country
from an agrarian
economy into a
socialist society.
3) V.I — Imperialism is not
Lenin highest stage of
capitalism
Codes :

(A) (1) and (3) are correct

(B) (2) and (3) are correct

(C) (1) and (2) are incorrect

(D) (1) and (2) are correct

MAY - 15216/II—C

oo N

26. @ell faoledn Hem I H&A I IW

ferer -

(1) siaifel arft —  FHmSia
faamaar
Y

TIrgen 37—
I AN
HHSERT

TSI qRecH
Eu]

(2) HET-I-8M —

(3) LA™ A — HHSIAR @
BIECIGN IS |
fawTETdaTd
3w 2o
e ¢

(A) (1) @for (3) S&X 3Ted

(B) (2) =for (3) S&X 3T=ed

(C) (1) =Tfur (2) Fehi=l 3R

(D) (1) A1 (2) SIS 2R

16



27.

28.

Which one of the following pairs is

incorrectly matched ?

(A) Hegel — Phenomenology
of Spirit
(B) Jeremy — A Fragment on
Bentham Government

(C) T.H. Green— Philosphy of

Rights
(D) J.S. Mill

Consideration

on Repre-
sentative

Government

What are the sources of Karl Marx’s

theory ?
(A) German Philosophy, British

Political Economy and French

Socialism

(B) German Socialism, British
Philosophy and French Political

Economy

(C) German Political Economy,
British Socialism and French

Philosophy

(D) German Socialism and French

Political Economy

27.

28.

MAY - 15216/I1—C

ETATeTdeh] STl SISl AATIIHR

Sesavdrd el 3R ?

A) T — AR 3
e

(B) SRHAT 99 — & HH= A
Tegiie

(C) Awa. WH — fraEmsr Aw
Teq,

(D) S.ug. e — SfgesEE 3|
RUSieeg Tt

wTd AEd=a fagiam wa S

ed ?

(A) STHA o, Toifest Tt sreferro
o1 e gHISER

(B) A wHWEmR, fafesr awem suf
g SR AR

(C) STHA USHA Adwro, fafes
THSERE A B dxeH

(D) SHA gHWER oA HhE UShia
AR
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29.

30.

Which one of the following pairs is

incorrectly matched ?

(A) Jeremy —Utilitarianism
Bentham
(B) John Locke —Hedonism

(C) Jean Jacques—Social

Rousseau Contract

(D) Antonio- —Hegemony

Gramsci

What is the central theme of Plato’s

Republic ?

(A) Justice

(B) Scheme of education

(C) Idea of communism

(D) Philosopher king

29.

30.
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TTeAeieh! IO STet ST Sesaal

e ?
(A) i A — ghfadetem
(B) W1 @fh  — gEEw

(C) SH S &G — TSy ik

(D) AT — o

o [a)

Hegedt fase shiord

NN
wicl=|

qE ?

(R end|

(A) =™

(B) T¥rerom=i =yawen

(C) grgaTer= HehouHl

(D) qAAT TS
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31. Given below are two statements, one

labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : Any Individual
affected due to
violation of any of
the Directive

Principles of State

Policy cannot

move the court.

Reason (R) : The Directive
Principles are not

justifiable.

In the context of the above two
statements which one of the

following is correct.
Codes :

(A) Both (A) and (R) are true but
(R) is the

explanation of (A)

not correct

(B) (A) is true but (R) is false

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

MAY - 15216/I1—C

31. @it gF faum ool omea. T faum

(A) W RN AR &R (R) :

faam™ (A) : ANGER doTEl WS
SR WETE SHAfekiel S

ATAT 9T | oSl

~dldloodld SIS Rlend

el
&IUT (R) : TFieie ad =Aawfase

HdTrd.

et g faumren ggula @l oo
T qrg IR LM
Hehdich :

(A) (A) T (R) =t s=R 3TRd 97T (R)

T (A) 9 I TR ARl

(B) (A) & s=X @ 9 (R) & b
S

(C) (A) T 9% 3¢ 90 (R) § RN
3T

[a) ha¥

(D) (A) T (R) =T s=R 3TRd 90T (R)

T (A) T TH SRR IR

19
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32. Given below are two statements, one

labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) :There has been a
growing demand
for review of

centre-state

relationship.

Reason (R) : The states have
no adequate
resources to take
up development

projects.

In the context of the above two
statements, which one of the

following is correct.
Codes :

(A) (A) is true but (R) is false

(B) (A) is false but (R) is true

(C) Both (A) (R)

individually true and (R) is the

and are

correct explanation of (A)

(D) Both (A) (R)

individually true but (R) is not

and are

the correct explanation of (A)

MAY - 15216/II—C

32. el g faum oot smea <mist TH

faam (A) W TR HRO (R) T TR :

faam (A) : F3-T e AR
Sl SEl ST HETOR
e e

fgsrTdrad ghed Ud-

fomarrdt ek TeThe

qft e R
Fa T foumen weuld @rcierieht
I I e

T (R) :

e
(A) (A) § SR 3¢ 90 (R) € IH
e

(B) (A) § I R 97 (R) ¥ SN
3

-~

(C) (A) 9 (R) Tl IR 2q1ed 2Tfur

(R) T (A) ¥ T TIRHI 3T

(D) (A) d (R) =T SRS 37&d 907 (R)
T (A) 9 T TR AR
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33.

34.

What is the nature of peasant
movement in India ?

(A) Anti-Governmental
cultural policy

(B) Anti-Government
(C) Anti-Public Policy
(D) Anti-NGO

Match List I (Leaders) with List II
(Movements) and select the correct
answer from the codes given
below :

agri-

List I
(Leaders)
(@) E.V. Ramaswamy
b)
()
d)

Charu Mazumdar

S.A. Dange

Godavari Parulekar

List II

(Movements)

Armed Revolution

Working Class

Self-Respect Movement

(1)
2)
(3)
(4)
Codes :
(a)
(A) 4)
B) 2)
C) )
D) (1)

Tribal Movement

(b)
(1)
3)
(1)
3)

(c)
2)
(1)
2)
(4)

)
3)
4)
(4)
2)

33.

34.

MAY - 15216/I1—C

o ¥ o as
HAIATeT RMdhi] doddadd Y hiy
e ?

(A)  TR=AT SdifaeEeR STl
foQiet o’

(B) @ TR faliei-ame
(C) @ HeSifer eRumea faeh a1
(D) < =Eel T falet ey

IR 1 (Ag) ¥ At I (Fesdes) o
Sozell ST et feeiea Hehdlehtd 4
ESREECEIE

R |
(AF)
3.5 T
(b) =T HFHIX
(c) TETE TM
(d) TRl TEesshi
arer 11
(T @)
I It
Eaticdie i
(3) TMYHAM <oseos
(4) sSTfcaTEt Jds
Gehdieh :
(a)
(A) (4)
(B) (2)
C) )
D) (D)

(@)

(1)
(2)

®)
(1)
3)
1)
3)

()
(2)
(1)
(2)
(4)

(d)
3)
4)
(4)
(2)
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35.

36.

Which one of the following Article
of the Constitution authorizes the
President of India to suspend the
Fundamental Rights ?

(A) Article 359
(B) Article 365
(C) Article 372
(D) Article 370

One of the following statements
related to Government of India Act,

1919 is incorrect ?

(A) The subjects of administration

were divided into two

categories—central and

provincial

(B)

The Indian legislative was

made more representatives

(C) The Courts had the authority
to decide whether a particular

subject was central or provincial

(D) There was no provision for
collective responsibility of the
ministers to the provincial

legislative

35.

36.

MAY - 15216/II—C

ETAUeh! VAT SSACHE  SheTH=

TRATAT TN JAYT TR oREIT

HA Idd ?
(A) HeH 359
(B) e 365

(C) hetH 372

(D) %eH 370

1919 = HIFCIT HeHld Eeiteideht

e faum 9= og, d faum sfesen .

(A) WETE favg ssa enfor wifdew
3@ faared 8

(B) 9RdE wEcHER © Sifues wifd-
faefter el T

(C) TEmEn fav™ shgmn TR ki giarn
g Sfauamn SIfueR =T
|l

(D) Wifdeh UIdesior AiHSes e HS R

A fehg el FaragR 3 d<d

fEeeTd Tead
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MAY - 15216/I1—C

37. In which of the following House/ | 37. W@ciiciush! IVl HWHFIRM STIE=d-
Houses are the seats not reserved STl & SIS Shivcarel J@lie ST
for SC/ST ? a2
(1) The Lok Sabha (1) e
(2) The Rajya Sabha (2) T=IFHA
(3) The Vidhan Parishad (3) faum ufteg
Select the correct answer from the TTeld Hedl IR Hed gig W
codes given below : e
Codes : %2
(A) Only (2) (A) e (2)

(B) Only (3) (B) whax (3)
(C) (2) and (3) C) 29 @©3)
(D) (1) and (3) D) (1) = (3)
38. Who is the first CEO of NITI | 38. il STEFT Ufeel H&A SRR TRl
Aayog ? IO ed ?
(A) Arvind Pangariya (A) Rfag 9mien
(B) Thawar Chand Gehlot (B) e =g Tead
(C) V.K. Saraswat (C) f=. ArREd
(D) Sindhushree Khullar (D) faysht goor
23 [P.T.O.



39.

40.

Which of these did the 74th
Amendment to the Constitution of
India, try to inject into the working
of urban and local bodies ?

(1) Bringing about uniformity in

the structure of local
governments throughout the
country

(2)

Ensuring regular and rational
flow of funds from the state’s

revenue

(3) Having property elected
governments at regular
intervals

(4)

Having single unified authority
for the city’s management and
development

Which of the following is/are correct ?
Codes :

(A) (1) and (2)

(B) (1), (2) and (4)

(C) (2), (3) and (4)

D) (1), (2) and (3)

The Supreme Court of India declares
by issuing a writ that the
respondent was not entitled to an
office he was holding or a privilege
he was exercising. Which writ is
that ?

(A) Habeas Corpus

(B) Prohibition

(C) Quo-Warranto

(D) Certiorari

39.

40.

MAY - 15216/II—C

747 SREATGEEIGR. B o 0T qATde
T WS TEIWE) v gRadd
sTufegd Bid ?

(1) HYU IR TAh T FEATAT
ThTERE T i e
Tt fasidqa fafaaoo =
fagsptadr =1 geqr et Suctsy
H

WA SR T HT0]

YR SHAEATIETE! 9 fIehTawTe!
Tha Wbl Afae o e

(2)

3)

(4)

Treld el 9T wEd Iqrg 3T

e
<he

[N

(A) (1) 3o (2)
(B) (1), (2) 311 (4)
(C) (2), (3) 3fur (4)

(D) (1), (2) 3701 (3)

TR R @ S TEER AR § U
IYYRTOAE AFeh Rl, Toed d& W™
FIURE fORTfEaR ST TUaTE A
&l 3T gated ~ATAeTd v STRIER
SEX & ITehd.

(A) ST gAfarshIo

(B) wfasy

(C) ATRRY=a1
(D) I
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41. Match List I with List IT and select

the correct answer by using the codes

given below the list :

(@)
(b)
(c)
d)

(1)

(2)

3)

(4)

List I
Philosophical Approach
Legal Approach
Historical Approach

Institutional and Structural

Approach
List II
Study

structure

legally prescribed

Find out and enunciate the
principles or ideals underlying

administrative activities
Organise and interpret the
information in a chronological
order

Describe the organisation and

functions of public organisations

Codes :

A) 3)
B) 3
©) @)
D) @)

(@ (&)
2)
(1)
(2)

1)

(c)
o))
2)
3)
3)

(d)
4)
4)
(4)
4)

MAY - 15216/I1—C

[a o

41. Tl

feoiedl Heohd-Yar=al Ha=a™

et 19 Al I I Siedl den

(@)
b)
(c)
(d)

(1)
(2)

(3)

(4)

Rl |
SleHIEIREA TR
fafershsl gfte
Tt gftewm
TEHE d HEAHE Greehid
Tt 11
fafufefed Fw=q=n s1vamg
TR Uchad ST STETeH
sewen ¥y & fefo
TfEdi=n hIcTeht e e fo=n
EERIPECICE

etk FeleAr T J e T

HL0

wEA-g

A 3)
B) 3)
©
D) (2)

(@ b)) @ @@

@ @O @

1 2 @

@2 3 @

3 @
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42.

43.

The
organisation

of
four

Structural Theory
manifests
features. Which one of the following

is incorrect ?
(A) Impersonality
(B) Flexibility
(C) Hierarchy
(D) Efficiency

Consider the following statement
about classical theory of organisation
and choose the correct code :

(z) It treats organisation as a
closed system

(1) It views the organisation as a
machine model

(i11) Humanistic attitude towards
the employee

(tv) Formal relationship is
important

Codes :

(A) (i) and (iz) are correct, (ii7) and
(tv) are incorrect

(B) (2) and (iiz) are correct, (i) and
(tv) are incorrect

(C) (@), (zz) and (iv) are correct, (iit)
incorrect

D) (), (i), (iii) and (iv) are

correct

42.

43.

MAY - 15216/II—C

GEEA=a HiEAER A 9 r
el e AT, I HITET FHE
L LE

(A) SAfRIRUET

(B) <Ry

(C) wEHTH

(D) hreierHal

HehagaT= AT e Fee= A

fagratfaseii=t A faem zfa.

() T TEE Ueh Sfcid e 2Te 3
R IEK]

(i) @ GESA Th I3 STHA™ UEd
qredr

Gii) Qg% guifasF=gr ArEadrare]

gt
(v) =T Feu™ "Ew
Heha-gell :
(A) ()3 (i7) SR 377, (id7) T (iv) TH
3R

(B) (i) 31fU1 (47) SIS 3114, (i) 9 (iv)
I IR

(C) (@), (i) 9 (iv) SR 3R, (iii) I
3R

D) @), (@), (i) T ({v) L 3R
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44. Select the correct problem of

recruitment from the following

codes :

(1) Location of the recruitment

authority

(i1) Recruitment from within Vs

recruitment from without

(z11) Qualification

(tv) Language

Codes :

(A)

(1) and (iz) are incorrect, (i11) and

(iv) are correct

(B) (@), (zz) and (iiz) are correct, (iv)

is incorrect

(©)

(i1) and (i71) are correct, (1) and

(zv) 1s incorrect

(D) (i), (ii), (iii) and (iv) are

incorrect

MAY - 15216/I1—C

44. el fooedn Fehd Y= FerE dar-

Wl faszes arg wwe e

() A faoEer WiEehre T 9H

(1) oTaTa faeag dfetia Janaadt

() 9TAT

(v) «Tem

wEA-g

(A) ()3 (ii) T A, (iii) T (fv) KX
e

(B) (@), (ii) 9 (iii) S 3R, (jv) I

Sl

(C) (i) T (jii) IR A, (i) T (jv) Ih
e

D) @), @), Gid) 9 (v) I A
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45.

46.

Who said, “Bureaucracy poses a
threat to democracy and to

individual freedom” ?
(A) Max Weber

(B) Martin Albrow
(C) Talcott Parsons
(D) Paul H. Appleby

According to Barnard C.LL what are
the qualities of leadership ?

(z) Vitality and Endurance

(i1) Decisiveness
(i11) Persuasiveness

(v) Responsibility and Intellectual
Capacity

Codes :

(A) (@), (zz) and (iiz) are correct, (iv)

1s incorrect

(B) (i), (ii), (iii) and (iv) are

incorrect

(C) (2)1s correct, (i1), (i17) and (fv) are

incorrect

(D) (i), (ii), (iii) and (iv) are

correct

45.

46.
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TR TIheMel o AR
M Gih e

(A) HeH TR

(B) HIEH oS

(C) T[AHIE I

(D) Ufd T=. 3fucsl

S .U AT T gl R0 ?

a

SICEC IR ECIE

@)

ARENIEETII

(iii) 3AUE T IBfa0ar=l &l

(lv) STeTEER 9 ek A

Heha-geil :

(A) (), (i) 9 (iii) SR 3, (jv) Ih
T8

B) @), (i), (i) T (v) b 3Ted

(C) () T T, (1), (i) T (jv) IH
e

D) @), (i), (i) T (jv) S 3Ted
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47. Select the correct statement about

public choice theory by using the

codes given below :

(z) Public Choice Theory is critical

of hierarchy and large

bureaucratic organisation.

(z1) It calls for small organisation

with overlapping jurisdiction.

(zi1) It claims to uphold democratic

administration.

(v) It behaves in privatisation.
Codes :

(A) (), (zz) are correct, (111), (iv) are

incorrect

(B) ), (1), (i11), (iv) are correct

(C) (1) 1s correct, (11), (i17) and (fv) are

incorrect

(D) ), (i1), (111) are incorrect, (iv) is

correct

MAY - 15216/I1—C

(o VW oSN hilaN [aV e o
47, @l Tgeied SENSEINSINSIERIEEREES

Tagiarfesri=t g faum ferer

() 7 Tagid qedmm o faene SenEmEl

gereAifaset gHtacH®  fHent
TR

(ji) TA=TeTd] AfYeRed  STHu=A

STCUYHTYT HeEATHT O JLEhR il

(Gii) @ ATHIMET IIMEATST  TATHIT

.

(iv) T TIfcen 3.

Hehd-Tot

(A) (), (i) SR A, (iii), (iv) I
3T

B) @), (i), (Gii), (v) T 3R

(C) (i) TR 3R, (1), (i) T (iv) TH
3R

(D) (), (id), (iii) Fh 3T, (jv) SRR
3R
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48.

49.

Who defined training as the process
skills, habits,

attitude
employees for the purpose of

of developing

knowledge and in

increasing the effectiveness of
employee in the present government
position as well as preparing
employee for future government
position ?

(A) Felin A. Nigro

(B) William G. Torpy

(C) Milton M. Mandel

(D) Bernard Baruch

Select the correct attributes of good
governance by using the codes
given below :

@)
(z1) Accountability

Transparency

(zi1) Efficiency
(tv) Autonomy
Codes :

(A) (@), (zz) and (zi7) are correct and

(zv) 1s incorrect

(B)

(2) and (i) are incorrect and (ii7)
and (iv) are correct

(C) (i), (ii), (iii) and (iv) are

correct

(D) (@) 1s correct and (i7), (i), (lv) are

incorrect

48.

49.

MAY - 15216/11—C
FIITRIOME Wl SRS 10 Shedl 2

“wHETETEl S, adt, I 9

gftesn ar=fl Sare o o e

LT I I UeTER STHAT HHAITH

TRUTIhRehdl dTefauarel  JiasTahTel

IMERE HHIRl TSfauar=n gfear. '’
(A) Hfem ©w
(B) faeam <. =ifd

(C) THeed wH. ed

(D) oA 9%d

TElTd Fehd Feal AT e e
A W e

(i) TNEIiehdT
DBSEIESE
(ii1) HTELTHA

(iv) T

ﬂ%ﬁﬁ—w :

(A) (), (37) 27T (347) B ISR A8 STF0T
(iv) I R

(B) (i) 30T (i) 5o Aed SO0 (i)
ST (ju) B TER AR

(C) (@), (i), (i) 3T (jv) § S
3eq

D) () § e 3T 0 (i7), (iii), (iv)
% I 3Rd
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50. Select the correct code about the

Jurisdiction of the Central Vigilance

Commission.

(z) All employees of the Central

Government

(1)) Employees in the Public

Undertaking

(zi1) Corporate bodies and other

organisation within the
executive power of Central

Government
(zv) Delhi Municipal Corporation
Codes :

(A) (), (z2) and (iiz) are correct and

(zv) 1s incorrect

(B)

(1), (1), (111) and (iv) are

correct

©)

() and (i1) are correct and (iii)

and (fv) are incorrect

(D) (1) and (iii) are and incorrect,

() and (iv) are correct

MAY - 15216/I1—C

50. Heha-g! ATTEA Hhed F&Al ST

G AfaR=T Ay faum feer

(i) TheIMEAE T e HHAN

(ii) eI frmE wHErl

(iii) h SIMTEAT=AT  STfersmeat s

TIfYeRTo o Sa8 GEeT

(iv) fooell FRTTRATTeTenT

Heha-geit :

(A) (@), (i) T (447) SIS 3TM=d 3T (v)
I Y

B) (@), (D), (i) T (iv) SR AR

(C) (i) d (ii) I ARA 3 (jii) &

(iv) Fh 3R

(D) (i) T (i1i) Tk 3R 3T () T (iv)
TS 3ATRd
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ROUGH WORK
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